

THE HERMITIAN AND NONNEGATIVE DEFINITE SOLUTIONS OF $AX = B$ SUBJECT TO $CXC^* \geq D$

XIFU LIU

(Communicated by F. Hansen)

Abstract. In this paper, we first establish some necessary and sufficient conditions for the existence of Hermitian and nonnegative definite solutions of $AX = B$ subject to $CXC^* \geq D$, where D is Hermitian matrix. Furthermore, general expressions for this constrained Hermitian and nonnegative definite solutions are derived, several special cases are also considered.

1. Introduction

Let $\mathbb{C}^{m \times n}$ denote the set of all $m \times n$ matrices over the complex field \mathbb{C} , $\mathbb{C}_H^{m \times m}$ denote the set of all $m \times m$ Hermitian matrices, $\mathbb{C}_{\geq}^{n \times n}$ denote the set of all $n \times n$ nonnegative definite matrices. For $A \in \mathbb{C}^{m \times n}$, its rank, conjugate transpose, any $\{1\}$ -inverse and Moore-Penrose inverse will be denoted by $r(A)$, A^* , A^- and A^\dagger respectively. For nonnegative definite matrix $A \geq 0$, its positive and negative index of inertia are symbolized by $i_+(A)$ and $i_-(A)$ respectively. For convenience, we denote $E_A = I - AA^\dagger$ and $F_A = I - A^\dagger A$.

Linear matrix equations play a very important role in matrix theory and other disciplines, such as statistics and control theory. And researches on linear matrix equations have received more and more attentions and has had lots of nice results. Recently, a challenging research topic is to solve matrix equations subject matrix inequality constraint concerning Löwner partial ordering. For example, Li et al. [3] presented some necessary and sufficient conditions for $X \geq (\leq, >, <)P$, where X is a Hermitian least squares solution to the matrix equation $AXB = C$. Zhang al. [9] derived necessary and sufficient conditions for $X \geq (\leq, >, <)P$, where X is common Hermitian least squares solution to the matrix equations $A_1XA_1^* = B_1$ and $A_2XA_2^* = B_2$. However, the general expressions weren't established for these two constrained solutions concerning inequality restrictions.

In this article, we consider the Hermitian and nonnegative definite solutions of $AX = B$ subject to $CXC^* \geq D$, where $A, B \in \mathbb{C}^{m \times n}$, $C \in \mathbb{C}^{p \times n}$ and $D \in \mathbb{C}_H^{p \times p}$ are given, $X \in \mathbb{C}^{n \times n}$ is variable matrix.

Before proceeding to the next section, we first introduce the following results which will come in handy in the proofs of our theorems.

Mathematics subject classification (2010): 15A09, 15A24, 15A39.

Keywords and phrases: Hermitian solution, nonnegative definite solution, linear matrix equation, linear matrix inequality, Löwner partial ordering.

LEMMA 1.1. [2] Let $A, B \in \mathbb{C}^{m \times n}$.

(1) Matrix equation $AX = B$ has a Hermitian solution if and only if $AA^\dagger B = B$ and BA^* is Hermitian. In this case, the general Hermitian solution can be written in the parametric form

$$X = A^\dagger B + F_A(A^\dagger B)^* + F_A U F_A,$$

where $U \in \mathbb{C}_H^{n \times n}$ is arbitrary.

(2) Matrix equation $AX = B$ (or $AXX^* = B$) has a nonnegative definite solution if and only if BA^* is nonnegative definite and $r(BA^*) = r(B)$. In this case, the general nonnegative definite solution can be written in the parametric form

$$X \text{ (or } XX^*) = B^*(AB^*)^\dagger B + F_A W W^* F_A,$$

where $W \in \mathbb{C}^{n \times n}$ is arbitrary.

LEMMA 1.2. [5] Let $A \in \mathbb{C}^{m \times n}$ and $B \in \mathbb{C}_H^{m \times m}$. Then the matrix equation $AXA^* = B$ has a Hermitian solution if and only if $AA^\dagger B = B$. In this case, the general Hermitian solution can be written in the parametric form

$$X = A^\dagger B(A^\dagger)^* + F_A Z + Z^* F_A,$$

where $Z \in \mathbb{C}^{n \times n}$ is arbitrary.

LEMMA 1.3. [1] Let $A \in \mathbb{C}^{m \times n}$ and $B \in \mathbb{C}_{\geq}^{m \times m}$. Then the matrix equation $AXA^* = B$ has a nonnegative definite solution if and only if $AA^\dagger B = B$. In this case, the general nonnegative definite solution can be written in the parametric form

$$X = A^- B(A^-)^* + F_A U F_A \text{ with } A^- = A^\dagger + F_A Z (B^{\frac{1}{2}})^-,$$

where $Z \in \mathbb{C}^{n \times m}$ and $U \in \mathbb{C}_{\geq}^{n \times n}$ are arbitrary.

LEMMA 1.4. [4] Let $A \in \mathbb{C}_H^{m \times m}$, $B \in \mathbb{C}^{m \times n}$, and denote $M = \begin{pmatrix} A & B \\ B^* & 0 \end{pmatrix}$. Then

$$i_{\pm}(M) = r(B) + i_{\pm}(E_B A E_B).$$

LEMMA 1.5. [8] Let $A \in \mathbb{C}^{m \times n}$, $B \in \mathbb{C}^{m \times k}$ and $C \in \mathbb{C}^{l \times n}$. Then

$$r \begin{pmatrix} A & B \\ C & 0 \end{pmatrix} = r(A) + r(E_A B), \quad r \begin{pmatrix} A \\ C \end{pmatrix} = r(A) + r(C F_A),$$

$$r \begin{pmatrix} A & B \\ C & 0 \end{pmatrix} = r(B) + r(C) + r(E_B A F_C).$$

2. Main results

In this section, our purpose is to investigate the Hermitian and nonnegative definite solutions of $AX = B$ subject to $CXC^* \geq D$. First, we present some necessary and sufficient conditions for the existence of these constrained solutions, and then establish their general expressions.

LEMMA 2.1. [7] *Let $C \in \mathbb{C}^{p \times n}$ and $D \in \mathbb{C}_H^{p \times p}$. Then $CXC^* \geq D$ has a Hermitian solution if and only if $E_C D E_C \leq 0$ and $r(E_C D E_C) = r(E_C D)$. In which case, a general expression of the Hermitian solution is given by*

$$X = C^\dagger [D - D E_C (E_C D E_C)^\dagger E_C D + W W^*] (C^\dagger)^* + Y - C^\dagger C Y C^\dagger C,$$

which is equivalent to

$$X = C^\dagger [D - D E_C (E_C D E_C)^\dagger E_C D + W W^*] (C^\dagger)^* + F_C Z + Z^* F_C, \tag{2.1}$$

where $W, Z \in \mathbb{C}^{n \times n}$ and $Y \in \mathbb{C}_H^{n \times n}$ are arbitrary.

It is important to point out that the representation of (2.1) can be derived by Lemma 1.2 by the same method used in [Theorem 4.1, 7].

Similarly, the following result follows from Lemma 1.1 and Lemma 1.3.

LEMMA 2.2. *Let $C \in \mathbb{C}^{p \times n}$ and $D \in \mathbb{C}_{\geq}^{p \times p}$. Then $CXX^*C^* \geq D$ has a nonnegative definite solution XX^* if and only if $E_C D E_C \leq 0$ and $r(E_C D E_C) = r(E_C D)$. In which case, a general expression of the nonnegative definite solution is XX^* with*

$$XX^* = C^\ominus (D + V V^*) (C^\ominus)^* + F_C U F_C \text{ with } C^\ominus = C^\dagger + F_C Z [(D + V V^*)^{\frac{1}{2}}]^\ominus,$$

where $V V^* = -D E_C (E_C D E_C)^\dagger E_C D + C C^\dagger W W^* C C^\dagger$, $W, Z \in \mathbb{C}^{n \times n}$ and $U \in \mathbb{C}_{\geq}^{n \times n}$ are arbitrary.

Next, we will derive the main results of this paper.

THEOREM 2.1. *Let $A, B \in \mathbb{C}^{m \times n}$, $C \in \mathbb{C}^{p \times n}$ and $D \in \mathbb{C}_H^{p \times p}$. Then there exists a Hermitian solution of $AX = B$ subject to $CXC^* \geq D$ if and only if $AA^\dagger B = B$, BA^* is Hermitian, and*

$$i_+ \begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -BA^* \end{pmatrix} = r \begin{pmatrix} A \\ C \end{pmatrix}, \quad r \begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -BA^* \end{pmatrix} = r \begin{pmatrix} D & C \\ BC^* & A \end{pmatrix} + r \begin{pmatrix} A \\ C \end{pmatrix}. \tag{2.2}$$

If the above conditions are satisfied, then a general constrained Hermitian solution is given by

$$X = A^\dagger B + F_A (A^\dagger B)^* + (C F_A)^\dagger [\tilde{D} - \tilde{D} E_{C F_A} (E_{C F_A} \tilde{D} E_{C F_A})^\dagger E_{C F_A} \tilde{D} + W W^*] (F_A C^*)^\dagger + F_A F_{C F_A} Z F_A + F_A Z^* F_{C F_A} F_A, \tag{2.3}$$

where $\tilde{D} = D - C A^\dagger B C^* - C F_A (C A^\dagger B)^*$, $W, Z \in \mathbb{C}^{n \times n}$ are arbitrary.

Proof. In view of Lemma 1.1, $AX = B$ has a Hermitian solution if and only if $AA^\dagger B = B$ and BA^* is Hermitian. In this case, the general Hermitian solution can be written in the parametric form

$$X = A^\dagger B + F_A(A^\dagger B)^* + F_A U F_A, \quad (2.4)$$

where $U \in \mathbb{C}_H^{n \times n}$ is arbitrary. Substituting (2.4) into $CXC^* \geq D$ produces

$$CF_A U (CF_A)^* \geq D - CA^\dagger BC^* - CF_A (CA^\dagger B)^*, \quad (2.5)$$

Applying Lemma 2.1, (2.5) is consistent if and only if

$$E_{CF_A} (D - CA^\dagger BC^* - CF_A (CA^\dagger B)^*) E_{CF_A} \leq 0,$$

$$r[E_{CF_A} (D - CA^\dagger BC^*) E_{CF_A}] = r[E_{CF_A} (D - CA^\dagger BC^*)].$$

By Lemma 1.4, Lemma 1.5, and the fact that Hermitian matrix $M \leq 0$ if and only if $i_+(M) = 0$, we have

$$\begin{aligned} 0 &= i_+[E_{CF_A} (D - CA^\dagger BC^* - CF_A (CA^\dagger B)^*) E_{CF_A}] \\ &= i_+ \begin{pmatrix} D - CA^\dagger BC^* - C(A^\dagger B)^* C^* + CA^\dagger A (A^\dagger B)^* C^* & CF_A \\ F_A C^* & 0 \end{pmatrix} - r(CF_A) \\ &= i_+ \begin{pmatrix} D - CA^\dagger BC^* - C(A^\dagger B)^* C^* + CA^\dagger A (A^\dagger B)^* C^* & C & 0 \\ C^* & 0 & A^* \\ 0 & 0 & A \end{pmatrix} - r(A) - r(CF_A) \\ &= i_+ \begin{pmatrix} D + CA^\dagger A (A^\dagger B)^* C^* & C & CB^* \\ C^* & 0 & A^* \\ BC^* & A & 0 \end{pmatrix} - r \begin{pmatrix} A \\ C \end{pmatrix} \\ &= i_+ \begin{pmatrix} D + CA^\dagger A (A^\dagger B)^* C^* & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -2BA^* \end{pmatrix} - r \begin{pmatrix} A \\ C \end{pmatrix} \\ &= i_+ \begin{pmatrix} D & C & -\frac{1}{2} CA^\dagger AB^* \\ C^* & 0 & A^* \\ -\frac{1}{2} BA^\dagger AC^* & A & -2BA^* \end{pmatrix} - r \begin{pmatrix} A \\ C \end{pmatrix} \\ &= i_+ \begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -BA^* \end{pmatrix} - r \begin{pmatrix} A \\ C \end{pmatrix}, \end{aligned}$$

$$\begin{aligned}
 r[E_{CF_A}(D - CA^\dagger BC^*)E_{CF_A}] &= r\begin{pmatrix} D - CA^\dagger BC^* & CF_A \\ F_A C^* & 0 \end{pmatrix} - 2r(CF_A) \\
 &= r\begin{pmatrix} D - CA^\dagger BC^* & C & 0 \\ C^* & 0 & A^* \\ 0 & A & 0 \end{pmatrix} - 2r\begin{pmatrix} A \\ C \end{pmatrix} \\
 &= r\begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ BC^* & A & 0 \end{pmatrix} - 2r\begin{pmatrix} A \\ C \end{pmatrix} \\
 &= r\begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -BA^* \end{pmatrix} - 2r\begin{pmatrix} A \\ C \end{pmatrix}, \\
 r[E_{CF_A}(D - CA^\dagger BC^*)] &= r(CF_A D - CA^\dagger BC^*) - r(CF_A) \\
 &= r\begin{pmatrix} C D - CA^\dagger BC^* \\ A & 0 \end{pmatrix} - r(A) - r(CF_A) \\
 &= r\begin{pmatrix} C & D \\ A & BC^* \end{pmatrix} - r\begin{pmatrix} A \\ C \end{pmatrix}.
 \end{aligned}$$

Therefore, (2.2) is obvious. And,

$$U = (CF_A)^\dagger [\tilde{D} - \tilde{D}E_{CF_A}(E_{CF_A}\tilde{D}E_{CF_A})^\dagger E_{CF_A}\tilde{D} + WW^*](F_A C^*)^\dagger + F_{CF_A}Z + Z^*F_{CF_A},$$

where $W, Z \in \mathbb{C}^{n \times n}$ are arbitrary.

Substituting U into (2.4) yields (2.3). \square

Specially, taking $C = I$ in Theorem 2.1, we have the following result, which was considered by Tian [Theorem 5.3, 6].

COROLLARY 2.1. *Let $A, B \in \mathbb{C}^{m \times n}$, and $D \in \mathbb{C}_H^{p \times p}$. Then there exists a Hermitian solution of $AX = B$ subject to $X \geq D$ if and only if $AA^\dagger B = B$, BA^* is Hermitian, and*

$$ADA^* \leq BA^*, \quad r(ADA^* - BA^*) = r(AD - B).$$

If the above conditions are satisfied, then a general constrained Hermitian solution is given by

$$X = A^\dagger B + F_A(A^\dagger B)^* + F_A[\tilde{D} - \tilde{D}(A^\dagger A(D - A^\dagger B)A^\dagger A)^\dagger \tilde{D} + WW^*]F_A,$$

where $\tilde{D} = D - F_A(A^\dagger B)^*$, $W \in \mathbb{C}^{n \times n}$ are arbitrary.

THEOREM 2.2. *Let $A, B \in \mathbb{C}^{m \times n}$, $C \in \mathbb{C}^{p \times n}$ and $D \in \mathbb{C}_{\geq}^{p \times p}$. Then there exists a nonnegative definite solution of $AX = B$ subject to $CXC^* \geq D$ if and only if $r(BA^*) = r(B)$, BA^* is nonnegative definite, and*

$$i_+ \begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -BA^* \end{pmatrix} = r\begin{pmatrix} A \\ C \end{pmatrix}, \quad r\begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -BA^* \end{pmatrix} = r\begin{pmatrix} D & C \\ BC^* & A \end{pmatrix} + r\begin{pmatrix} A \\ C \end{pmatrix}. \quad (2.6)$$

If the above conditions are satisfied, then a general constrained nonnegative definite solution is given by

$$X = B^*(AB^*)^\dagger B + F_A WW^* F_A, \tag{2.7}$$

with

$$WW^* = (CF_A)^-(\hat{D} + VV^*)((CF_A)^-)^* + F_{CF_A} U F_{CF_A}, \tag{2.8}$$

$$(CF_A)^- = (CF_A)^\dagger + F_{CF_A} Z [(\hat{D} + VV^*)^{\frac{1}{2}}]^- ,$$

$$VV^* = -\hat{D}(E_{CF_A} \hat{D} E_{CF_A})^\dagger \hat{D} + C(CF_A)^\dagger Y Y^* C(CF_A)^\dagger, \tag{2.9}$$

$$\hat{D} = D - CB^*(AB^*)^\dagger BC^*,$$

$Y, Z \in \mathbb{C}^{n \times n}$ and $U \in \mathbb{C}_{\geq}^{n \times n}$ are arbitrary.

Proof. In view of Lemma 1.1, $AX = B$ has a nonnegative definite solution if and only if $r(BA^*) = r(B)$ and BA^* is nonnegative definite. In this case, the general nonnegative definite solution can be written in the parametric form

$$X = B^*(AB^*)^\dagger B + F_A WW^* F_A, \tag{2.10}$$

where $W \in \mathbb{C}^{n \times n}$ is arbitrary. Substituting (2.10) into $CXC^* \geq D$ produces

$$CF_A WW^* (CF_A)^* \geq D - CB^*(AB^*)^\dagger BC^*, \tag{2.11}$$

Applying Lemma 2.2, (2.11) is consistent if and only if

$$E_{CF_A} (D - CB^*(AB^*)^\dagger BC^*) E_{CF_A} \leq 0,$$

$$r[E_{CF_A} (D - CB^*(AB^*)^\dagger BC^*) E_{CF_A}] = r[E_{CF_A} (D - CB^*(AB^*)^\dagger BC^*)].$$

By Lemma 1.4, Lemma 1.5, we have

$$\begin{aligned} 0 &= i_+ [E_{CF_A} (D - CB^*(AB^*)^\dagger BC^*) E_{CF_A}] \\ &= i_+ \begin{pmatrix} D - CB^*(AB^*)^\dagger BC^* & C & 0 \\ C^* & 0 & A^* \\ 0 & A & 0 \end{pmatrix} - r(A) - r(CF_A) \\ &= i_+ \begin{pmatrix} D & C & \frac{1}{2}CB^* \\ C^* & 0 & A^* \\ \frac{1}{2}BC^* & A & 0 \end{pmatrix} - r \begin{pmatrix} A \\ C \end{pmatrix} \\ &= i_+ \begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -BA^* \end{pmatrix} - r \begin{pmatrix} A \\ C \end{pmatrix}, \end{aligned}$$

$$\begin{aligned}
r[E_{CF_A}(D - CB^*(AB^*)^\dagger BC^*)E_{CF_A}] &= r \begin{pmatrix} D - CB^*(AB^*)^\dagger BC^* & C & 0 \\ C^* & 0 & A^* \\ 0 & A & 0 \end{pmatrix} - 2r \begin{pmatrix} A \\ C \end{pmatrix} \\
&= r \begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ BC^* & A & 0 \end{pmatrix} - 2r \begin{pmatrix} A \\ C \end{pmatrix} \\
&= r \begin{pmatrix} D & C & 0 \\ C^* & 0 & A^* \\ 0 & A & -BA^* \end{pmatrix} - 2r \begin{pmatrix} A \\ C \end{pmatrix}, \\
r[E_{CF_A}(D - CB^*(AB^*)^\dagger BC^*)] &= r(CF_A D - CB^*(AB^*)^\dagger BC^*) - r(CF_A) \\
&= r \begin{pmatrix} C D - CB^*(AB^*)^\dagger BC^* \\ A & 0 \end{pmatrix} - r(A) - r(CF_A) \\
&= r \begin{pmatrix} C & D \\ A & BC^* \end{pmatrix} - r \begin{pmatrix} A \\ C \end{pmatrix}.
\end{aligned}$$

Hence, (2.6) is obtained. Together with Lemma 2.2, (2.10) and (2.11), we get (2.8) and (2.9). So, (2.7) is obvious. \square

The following result is a direct consequence of Theorem 2.2.

COROLLARY 2.2. *Let $A, B \in \mathbb{C}^{m \times n}$, and $D \in \mathbb{C}_{\geq}^{n \times n}$. Then there exists a nonnegative definite solution of $AX = B$ subject to $X \geq D$ if and only if $r(BA^*) = r(B)$, BA^* is nonnegative definite, and $ADA^* \leq BA^*$, $r(ADA^* - BA^*) = r(AD - B)$.*

If the above conditions are satisfied, then a general constrained nonnegative definite solution is given by

$$X = B^*(AB^*)^\dagger B + F_A[\hat{D} - \hat{D}(A^\dagger A \hat{D} A^\dagger A)^\dagger \hat{D}]F_A + F_A Y Y^* F_A,$$

with $\hat{D} = D - B^*(AB^*)^\dagger B$, and $Y \in \mathbb{C}^{n \times n}$ is arbitrary.

Acknowledgements. The author would like to thank the Editor and the referees for their very detailed comments and valuable suggestions which greatly improved our presentation. This work is supported by the National Natural Science Foundation of China (Grant Nos. 11426107, 11461026, 51465018, 61472138).

REFERENCES

- [1] J. GROSS, *Nonnegative-definite and positive-definite solutions to the matrix equation $AXA^* = B$ - revisited*, Linear Algebra Appl. **321** (1-3), 2000, 123-129.
- [2] C. KHATRI, S. MITRA, *Hermitian and nonnegative definite solutions of linear matrix equations*, SIAM J. Appl. Math. **31** (4), 1976, 579-585.
- [3] Y. LI, Y. GAO, W. GUO, *A Hermitian least squares solution of the matrix equation $AXB = C$ subject to inequality restrictions*, Comput. Math. Appl. **64** (6), 2012, 1752-1760.
- [4] Y. LIU, Y. TIAN, *Max-min problems on the ranks and inertias of the matrix expressions $A - BXC \pm (BXC)^*$ with applications*, J. Optim. Theory. Appl. **148** (3), 2011, 593-622.

- [5] X. LIU, H. YANG, *An expression of the general common least-squares solution to a pair of matrix equations with applications*, *Comput. Math. Appl.* **61** (10), 2011, 3071–3078.
- [6] Y. TIAN, *Equalities and inequalities for inertias of Hermitian matrices with applications*, *Linear Algebra Appl.* **433** (1), 2010, 263–296.
- [7] Y. TIAN, *How to solve three fundamental linear matrix inequalities in the Löwner partial ordering*, *J. Math. Inequal.* **8** (1), 2014, 1–54.
- [8] Y. TIAN, D. ROSEN, *Solving the matrix inequality $AXB + (AXB)^* \geq C$* , *Math. Inequal. Appl.* **15** (3), 2012, 537–548.
- [9] F. ZHANG, Y. LI, J. ZHAO, *Common Hermitian least squares solutions of matrix equations $A_1XA_1^* = B_1$ and $A_2XA_2^* = B_2$ subject to inequality restrictions*, *Comput. Math. Appl.* **62** (6), 2011, 2424–2433.

(Received January 9, 2015)

Xifu Liu
School of Science
East China Jiaotong University
Nanchang, 330013
P. R. China
e-mail: liuxifu211@hotmail.com